Jo Willmott: Result clauses in Lysias 1

The standard way to express result is with the conjunction &ote followed by a verb in the
indicative or the infinitive. Usually there is also some kind of 'sign-post word' like oUtwg

in the main clause. For example:

oUtwg NABIwg dtekelpuny, Mote GUNV TNV EUavToD YUVaIKA TACOV GWPPOVESTATNV Elval
TQV €v Tf] TOAeL.

(Lysias Speeches 1.11)

When the indicative is used the speaker states that the result was fulfilled, just as in
English: 'It was so hot that I didn't get any work done'. There are 2 further examples of this

construction in Lysias 1:

Kal oUtw¢ 10N ovvelbiouévov Nv, dote TOAAGKIG 1) YOV ATIHEL KATW KaBgudrjoovoa wg To
nadiov, tva Tov TtV adT® 313& Kai ur) fod.

(Lysias Speeches 1.10)

Kal oUTw 0@ddpa 6 vopoBétng éml Taic yapetaic yovaiél dikaix tadta fiyRoato givat, Oote
Kal €l Taig TaAAaKaig Taig EAdtTovog Gioig TV avthv diknv EnéOnke.

(Lysias Speeches 1.31)

When the infinitive is used it is not clear whether or not the result happened or not, just

as in English: 'It was too hot to work'. There are 2 examples of this in Lysias 1:

TEPL TOUTOL Yap HOVOL TOD AdiknUaTog Kal €v dnpokpatia kol OAtyapxiq N a0t Tipwpia
701G AoOEVESTATOLG TPOG TOUG T HEYLOTA duVaPEVOULS Grtodédotal, WoTe TOV XElpLoTOV TAOV
aUT@V TuyXAvew TQ BeAtioty

(Lysias Speeches 1.2)

OV utv &Aov xpbvov oltw diekelunv dote urte Avmeiv ufte Mav én’ ékeivn etvon 8 T dv
€0€An moiely,

(Lysias Speeches 1.6)
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